
SAP ABAP table DITSM {SDB: Dialog Table for Problem Linked from Solution}

DITSM

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

LANGU [LANG (1)]

ISMTP [CHAR (2)]

APPLAR [CHAR (20)]

ISMART [CHAR (2)]

ISMCAT [CHAR (2)]

ISMGRP [CHAR (8)]

ISMCOD [CHAR (4)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

RBNR [CHAR (9)]

OPCAT [CHAR (2)]

PRCAT [CHAR (2)]

CACAT [CHAR (2)]

CRMC_SUBJPROFILE

CLIENT [CLNT (3)]

SUBJECT_PROFILE [CHAR (9)]

 DITSM-RBNR = CRMC_SUBJPROFILE-SUBJECT_PROFILE 

0..N

{0,1}

ISMP

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

 DITSM-ISMNR = ISMP-ISMNR 
0..N

1

QPCD

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

CODEGRUPPE [CHAR (8)]

CODE [CHAR (4)]

 DITSM-ISMCOD = QPCD-CODE 
0..N

0..N

QPGR

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

CODEGRUPPE [CHAR (8)]

 DITSM-ISMGRP = QPGR-CODEGRUPPE 

0..N

0..N

T000

MANDT [CLNT (3)]

 DITSM-CLIENT = T000-MANDT 

0..N

1

T002

SPRAS [LANG (1)]
 DITSM-LANGU = T002-SPRAS 

0..N

1

T0KBA

CLIENT [CLNT (3)]

ISMTP [CHAR (2)] DITSM-ISMTP = T0KBA-ISMTP 0..N

{0,1}

T0KBC

CLIENT [CLNT (3)]

ISMTP [CHAR (2)]

ISMART [CHAR (2)]

 DITSM-ISMART = T0KBC-ISMART 
0..N1

T0KBD

CLIENT [CLNT (3)]

APPLAR [CHAR (20)]

 DITSM-APPLAR = T0KBD-APPLAR 

0..N

1

T0KBG

CLIENT [CLNT (3)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

 DITSM-PRIOK = T0KBG-PRIOK 

0..N

{0,1}

T0KBH

CLIENT [CLNT (3)]

ARTPR [CHAR (2)]

 DITSM-ARTPR = T0KBH-ARTPR 

0..N

0..N

TQ15

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

 DITSM-CACAT = TQ15-KATALOGART 

0..N

0..N

 DITSM-ISMCAT = TQ15-KATALOGART 

0..N

0..N

 DITSM-OPCAT = TQ15-KATALOGART 

0..N

0..N

 DITSM-PRCAT = TQ15-KATALOGART 

0..N

0..N


